Best model for HELP J143604.606+351256.824 at z = 0.331 ¥2=1.96
OPTx2=0.53 IR¥2=11.52 threshold (OPT IR)=10.65 [um]

102 : Stellar attenuated
o Stellar unattenuated

—— Dust emission

1 . —— AGN emission
10 . I:I:| = Model spectrum
: ® Model fluxes
: M oObserved fluxes

10° :

> :

S :

— 10—1 :

X .

-] .
[ 5 p/‘)'}

10~ L my

R :

e il

'_I

o

&
ceeeefin

Relative residual flux
o = A
i
1
1
L
1
1
1
| ..
1
] 1
|:
(o)
g
=
g
IS
7

9

I
=

LR T L T T TTTTT T L | T T EM
10° 10t 102 103 104 A
Observed wavelength [um]



